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Read Yarloga

“include “discipline.h“

“include "constants. ht
nodule comparator( sigin, sigref, sigout ),
input sigin, sigref;

output sigout;

glectrical sigin, sigref, sigouk;
parameter real sigouk high = 1.3;
parameter real sigout low = [;

analog begin

1f (W(sigin] < Vi{sigref)) ¥isigout)<+sigout loor;

it (Visigin) >V(sigref)) W(sigoukt)<+sigout high;
end

endmodule

This is a very simple comparator
code............and this results in

convergence problem!!!! What
should | change here?????




LLeafed OlrecTory 1npul. aldlolmilbfedos pro]_boLPE TEmMD _SEnsSor_comparatorl _W_verlloga _Werllogs. Wa. conp
Created directory input. ahdlSinDB /2452 proj GSLPE temp sensor comparator v wveriloga weriloga. wa, comp
Compiling shdlcni module library.
Finizhed compilation in 1 = {elapsed).

Installed compiled interface for comparaktor.

Tine for Elaboration: CPU = 133.979 ma, elapsed = 1.94945 s,
Tine accumulated: CPU =
Peal resident memory uzed = 103 Mbytes,

Tine For EDE Visiting:

Tine accumulated:; CPU =
Peak resident memory used = 104 Mbykes.

Hotice from spectre
Mo DC path from
Ho DG path from
Mo DC path from
Ho DC path from
Mo DC path from

durlng topolo

node
node
node
node
node

T1602, I

Further occcurrences of this
Warning from spectre during iniktial setup.
Too many saved gignals [ 1147 ]. Slow inaitialization 13 expected|

WARNING (SPECTRE-203) .

Circuit inventory:
nodes
hit
bsimd
capacitor
conparator
1source
relay
resistor
Terl
VSO0Urce

451
b
834
256
1

2

1

3
13
17

562. 913 n3, elspsed = 2.4576d s,

CFU = Z27.9%9: ms, elapsed = 28 198 ms.
500,909 n3, elapsed = 2 486 =,

check.

-net8' to ground, Gmnin installed to provide path.
T160E. 119,
TI1E02, I22,
"T160Z2. 121,
"Il60z. 123

netd' to grovnd, Gnin installed to provide path.
net8' to ground, Gnin installed to provide path,
netd' to ground, Onin installed to provide path.
net8' to ground, Gnin installed to provide path.
notice will be suppresaed.

This is not the problem off

coursel!l

| am not sure about this




abatal (V) = 10 uVv
abstol(I) = 100 pA
temp = 0 C

triom = 27 G
tempaffects = all
errpreset = moderate

d = . . .
?Eiugin tiiﬁ ) This node is shown in
cmin = 1 EF Fig2_comparator block

cnin = 1 £F

gnin = 100 ps

Notice from spectre at time = 4.03993 fz during transient analysis " tran'.
Mamimum walue for quantity "I' has increased to 417 619 mAa (detected at ITTT. I11l:sigout flow).
Warning from spectre at time = 1Z. 393 ps during transient analysis " tran'.
WAENING (SPECTRE-16191): Minimum time step uwzed. Solution m:l.ght be in error.
Notice from spectre at time = 12. 393 pa durmg tranment. B.nal;'am t.ran‘
Mazdmun value for gua h3 ; :
Warning from spectre at P ng' l:ranamnl: Aria
WARMING (SPECTRE-16191): Minimun time step wsed. Solution m:l.ght be in error.
Warning from specktre abt time = 142 048 ns dur transient mnalysis " Eran'. .
!JLEI-JIHG {SEEEmE—lElgl',i: Minimom time steﬁsed. Solution Eght be in ercor. REd I|nes ShOW the
Warning from spectre at time = 142 048 ns during transient analysis ~tran'.
WARNING (SPECTRE-16191): Minimum time step wsed. Solution Ird.ght be in error. Convergence

3387 376 m¥% 1
1w T problems spectre is
v @ facing!!!!!

l:zigout flow),

tremn: bime
tran: time
Eran: time

2.497 us (2.7 %), step
T.68 us (2.53 %), step
11,28 us (12.5 %), atep

Warning from spectre at time = 15 2425 usz during transient anmalysis ©tran'.
WARNING (SPECTRE-16191): Minimum time step wsed. Solution might be in error.
Further occurrences of this warnang will be suppressed,
Warning from spectre at time = 15 2437 us n:lul:mg' t.ranamnl: m1331a bran'.
WARNING (SPECTRE-162668) : Errc &1L T ETET) TE e L0 at =g becayse

lties,

tran: time = 15. 76 us (17.5 %), step = 232 ns (253 m%)
tran: time = 20, 27 us (22.5 %), step = 35.14 na (39 m%)
tran: time = £5.58 us (28.4 %), step = 1.415 us (1.57 %)
tran: time = 29 32 us (32,6 %), step = 160 n= (178 m%)
bran: time = 33.78 us (37.5 %), step = E30.3 ns (265 m%)
tran: time = 38, 52 us (42,23 %), step = B28.7 n3 (58T m%)
tran: time = 43.02 us (47.8 %), step = S0E2.5 ns (558 m%)
tran: time = 47, 27 us (52.5 %), step = 123.7 ns (13T m%)
tram: time = 51,75 us (57.5 %), astep = 248.4 na (276 m%)
tran: time = 56,36 us (62.6 %), step = 358.6 ns (398 m%)
tran: time = = 203.1 n=z {325 mﬁ:}

£1,01 us (ET 2 %), step




